


Project : Correct 1 pre-made indicator and make new indicator as I described here

Firstly, take a look at below image, please.
[image: C:\Users\David Oh\Desktop\191005\Project_1910031401\Image(s) used_project_1910051740\Image of OIH_ZZ_HL_v1.0_EURUSD_1910051714.png]
                    Image of OIH_ZZ_HL_v1.0_EURUSD_1910051714

This pre-made indicator (OIH_ZZ_HL_v1.0) is not working properly as I desired.
As you can see, there are wrong calculation, and it should display ”HL”.
Because “current Low” is greater than “previous Low”.
Here, “previous Low” can be “LL” or “HL”
And also, “Previous High” can be “HH” or “LH”.
Take a look at another image, please.
[image: C:\Users\David Oh\Desktop\191005\Project_1910031401\Image(s) used_project_1910051740\Image of OIH_ZZ_HL_v1.0_GBPUSD_1910051714.png]
Image of OIH_ZZ_HL_v1.0_GBPUSD_1910051714

As you can see, there are wrong values on chart.
It should display “HL” on each “LL”.
Hope you to fix current OIH_ZZ_HL_v1.0 in a right way.



A new indicator will be “OIH_ZZ_HL_v1.1”. 





Below is for 2nd request of making new indicator using “OIH_ZZ_HL_v1.1”.
“OIH_ZZ_HL_v1.1” indicator has only buffers as followings below.
v1 HH
v2 HL
v3 LH
v4 LL
v5 HH ISM
v6 HL ISM
v7 LH ISM
v8 LL ISM

But new indicator will have extra buffers to display various situations.
** Current High is for LH / HH
** Current Low is for HL / LL
**New version "OIH_ZZ_HL" will have buffers as followings below.

v1 Current High   ** it will have numerical value when current LH or HH has numerical value
v2 Current Low   ** it will have numerical value when current HL or LL has numerical value
v3 Previous High   ** it will have numerical value when previous LH or HH has numerical value
v4 Previous Low   ** it will have numerical value when previous HL or LL has numerical value

v5 Current High ISM
v6 Current Low ISM
v7 Previous High ISM
v8 Previous Low ISM

v9 HH
v10 HL
v11 LH
v12 LL

v13 HH ISM
v14 HL ISM
v15 LH ISM
v16 LL ISM

Below is for more details of “HL” and “LH”.
As you see the actions in 2 attached images above, there are not right “HL” and “LH”.
“HH” can happen when current High > previous High
“HL” can happen when current Low > previous Low
“LH” can happen when current High < previous High
“LL” can happen when current Low < previous Low





Requirement(s)
∙ It should work properly as I described.
-  -
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